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39- What does an architect do?

1) He draws plans for buildings.

2) He builds the buildings.

3) He looks after buildings.

da&b&ec
40-That lazy man works ... slowly that he can’t finish the
work on time.

1) enough 2) s0

3) such 4) such a
41-| helped him... thetree.

1) climb 2) climbing

3) to climb 4) all corrects
42-which word is different from the others?

1) opinion 2) idea

3) concept 4) agree
43-1 havean important ... . | should passmy examswith
the best points.

1) end 2) target

3) purpose da&b&c
44- our people should learn, how towork ... .

1) possible 2) possibly

3) collective 4) collectively

45-Heis ... interested in the film. It was very funny.
1) extremly
2) ignorantly
3) primitively
4) none of them is correct
46- Iranissush an ... country that, it hasalot of old and
famous buildings.
1) ancient
3) different
47- which oneiswrong?
1) behaviour: treatment
2) target: goal: aim
3) help: aid
4) offend: manner
48- 1 coulden’t understand the foreigner. His ... was
terrible.

2) primitive
4) useful

1) listening 2) accent
3) ancient 4) habit
49- If he does something wrong it isonly ... ignorance.
1) with 2) out of
3) about 4) into
50- The plane made a safe ... .
1) seating 2) landing
3) down da&b&c
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